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February 07, 2018

the test!

Kickoff

Objective: SWBAT review the current unit material for

Take out your homework and check your answers:
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Factor and solve each of the following:
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Solve for the roots by using the quadratic e
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juation for each of the following.
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Solve for the roots by completing the square for each of the following.
11)x? = 18x + 40 — 12)3x* —8x = —4
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13)x2—12x +23=0

RTINS (Cr\TiNy
X 4% = 250
Xg_ \9\)( —\—510 = \3
-L)x-6)=13

Y= N1
o 44
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Solve each system. — 2
. y=x*“—8x+28
y=x2-10x+14 16) Solve by completing the square: y—8=dx

15) Solve by factoring: y=7x-16
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